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And are we not concerned for a weasel?! — 7179 JWn Ixoy

OVERVIEW
The 71wn taught that after one is 712 his house for ynn, we are not concerned that
perhaps a 77971 dragged ynn from an unsearched place to a searched place.” The
X3 questions this assumption and argues that we seemingly find elsewhere that
we are concerned for a weasel dragging ynm away. nmpoon discusses what
specifically we are concerned about if we would maintain 7721 D93 Pwwn.
*

mdoIN negates a possible explanation of the s'%7 13 question:

— *myah 193 199N NTIINY WINT >7599 NY XN
The X3 is not asking (when it states 772112 w0 X?)), that we should be

concerned for 7797 N1°13 even from a house to a house. The concern is that a 7791
may have dragged the v from a 172 1°XW 0" to a house that was 172. M0N0 explains why we

negate this concern:
—99%3N 0P NN PITAY DY YWIN INY Sqw 43499 1PN 15 DONY

For if indeed this is the concern there will be no end to allay this concern, for it

is impossible that one will not be 2712 before his friends -
— PY12Y PYTA PRY N30 HTDIN ANYAN RNDY YNNIHY NIIN)Y

And therefore there is always the concern perhaps a 7779 brought y»n from a

house which is not searched to a searched house and this would require 7ip>72 again
(and again, etc.). Therefore we cannot assume that this is the concern.

" In our M3 the X077 is; 19 PRI PR 1R Y.

% The mawn reads that " Q1PR% DI MR MPan AT 377% XY PWRIR PR, indicating that if we were wwin we would
(be capable and) have to take measures against this wwn. The reason why we do not take any measures to prevent
this wwn is, as the 7awn continues, because if we were Q1pn% DR N°2% Noan Wi then PR Y2 Pvn 180% 307 3"
M0 7279, There is no way to prevent the wwn of these two latter cases. [It would seem however that it is possible to
prevent the wwn of 7771 N3 from 2P 0pn and (even) from n°2% n°3; see, however, this nwon (and footnote # 5)
who seemingly negates this preventive possibility by n°a? noan.]

? See “Thinking it over’ # 1.

* If this would be the question and concern of the x7»3, then this would require that (at least) all the neighbors should
be 72 simultaneously, for otherwise a 77211 may drag y»n from a house which is not 172 to another house which is
P72

> See 11"1n who asks that from the 73wn it seems that 1222 n*an (as well as Dpn> Dpnn) there is M0 727> W (it is only
93777 %07 or 1YY °Yn where it is 0"79R [see previous footnote # 2]). See PR1W 127 who (on account of this question)
suggests that Xo7°3 NMDOIN in the mwn was '0"798 191 N°2% nvan "R 3"RT QP Dpnn 131 Xaw 1R\ [See (end of)
footnote # 10.]

® There would seem to be no point in voicing a concern if the problem cannot be rectified in any event. Therefore we
must assume that the concern is something which can be prevented (as m»01n concludes).
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mooin offers the correct interpretation:
— 18y 152N NS 139977 1999 ©IPNY DIPNH NON

But rather we must assume that the X723 is asking concerning the dragging of a
7791 from place to place, meaning from place to place in any specific house

itself. We must assume that the X713 -
$I98Y 132 ININ NTINY PYNMN N9 8‘1)3179

means to say, ‘and are we not concerned for a 57797 in that house itself!’ In a
house precautions can be taken to prevent the concern of 77771 N> from one place to another in
this house

SUMMARY
The question that we should be wwn for 7791 n7°73 was only 2pn? D1PH7 in one
house but not n*2% n°an.

THINKING IT OVER

I. Why did npoin find it necessary to establish that the X33 is not asking
concerning n*a% n°an;” why would we have (even) thought that this is the intent of
the question?!

2. Is the mwn negating the concern of (121 nN°2% n>am opnb DpHR) 772110 N3 (only)
in a case where no 7777 was observed at all, or is it negating the concern of N9
77211 even if we saw the 77911 elsewhere, nevertheless if it was not seen in the 2p»
1727, we are not concerned that the 7721 dragged it there?'

" In a ma itself it is considered 710 7272 v, for one can place sufficient people in the house that he is p712 to assure
that a 7791 did not take any y»an from a 21p» which is not 172 to a 21pn which is P172.

¥ The word 7193 indicates that we do not assume the simple meaning of the text. In this case the question of X5
'7721% 1w n sounds universal; that in all cases there should be a wwn of 7791 N>, However mooin limits it to a
situation of (only) 01pn% D11 and not (even) N2 nan.

? See footnote # 3.

10 See x"ow on the 7wn and the X713 on X,v. It would seem (from this X"5w) that 79X n°22 pn? opnn if a 77910 was
seen (with v in a p172 1°Rw 2pn) we should be concerned and be p712 again (in the 217277 2pn). It is only when no
7790 was seen that we are not 2pnb Dpnan wwin. However if a 77290 was seen with yan in another house (which was
not ?172), the 17277 N°2 requires no additional 7>72.

[It is possible that when the mwn states that n°2% n*an 1" that is even when we saw the 777211 in the P172 °Rw o2, (It
may be considered 710 1277 @, for we can address this concern if everyone is p712 after we see a 772 with v in an
adjacent n»a. However the rule is that we are not Wi even if we see a 77231 in another N3, because 0"77X; there are
always more 0°na in different Mm% or N7™y). The question here 11°w»n X7 is that we should be wwn even if we did
not see a 1771 (as is the case of 13 7¥1¥2 w°r). In this type of concern then n°2% n°an is considered 0"79X, since it is
impossible for all to be 712 in the same time. However the wwn of 21pn? 01pnn in one N7 (even if we do not see a
779I0) is 730 7272 W (see footnote # 7). 3"vx.]

2

TosfosInEnglish.com



